Ratio to ATLAS

1074

[EEY

0.5

13000 GeV pp tt
S L Y I L I I AN IR B B e
o _ . 13
M(ttbar) (ATLAS semileptonic ttbar) B
=
— m ATLAS —<
— --8-- Pythia 6.428 391 mi
- %- Pythia 6.428 393 13
- --e- Pythia 6.428 394 e
— ---¥-- Pythia 6.428 395 4%
>
- | mEs
P \,
- \,
\x

— \t E—
— g, - _
- . &
— Sio — <
AT o™
B Y B
— R =
R, (49)
R |
\:\‘: >5
B Y, .,
~¢"s N
N (&)
| N _|€
- u 38
_ 14
- 15
- —
(&)
e e e R
— -2
B E:_;-—;-_'--.‘ = B 1

\.g:::ifififififififff:fj’===:‘ _

T = -

| —0.5
1 " | " 1 1 " 1 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
500 1000 1500 ar 2000
tbar .
m*% [GeV], Iy} in [0,0.4]



	Contents
	Page 1


